BID SUMMARY

PROJECT TITLE: Reconstruct Taxilanes and Entrance Road, Relocate Taxiway G, Runway 3-21 Safety Area Erosion Control Improvement

PROJECT NUMBER: AIP 3-32-0008-028-2024 ~ PWP# CH-2024-246

OWNER/AIRPORT: City of Fallon / Fallon Municipal Airport

ENGINEER: J-U-B Engineers, Inc.

PROPOSAL OPENING: 4/2/2024 3:00 PM Local Time

LOCATION: City of Fallon, Administration Office, City Hall at 55 West Williams Avenue, Fallon, Nevada 89406

BID INFORMATION:

CONTRACTOR:				
	ENGINEER'S ESTIMATE	GRANITE	A&K	
Bid Proposal (Signed)	-	X	Х	
Bid Schedule of Items & Prices	-	X	X	
Acknowledgement of Addenda (#1 & #2)	-	X	X	
Declaration of Non-Collusion	-	X	X	
Bid Bond	-	X	x	
Statement of Bidders Pre-Qualifications	-	X	x	
Subcontractors List	-	X	x	
Certification of Offerer/Bidder Regarding				
ax Delinquency and Felony Convictions	-	X	X	
Buy American Certificate	-	X	Х	
rade Restriction Certification	-	X	Х	
/lobilization Price Cap	-	X	Х	
lan Holder	-	Х	Х	
			-	-
id Schedule A	\$1,038,555.00	\$1,417,417.00	\$1,169,482.00	
Bid Schedule B	\$397,035.00	\$500,500.00	\$407,747.50	
Bid Schedule C	\$551,460.00	\$630,630.00	\$415,877.00	
Bid Schedule D	\$278,345.00	\$236,236.00	\$213,648.50	
Bid Schedule E	\$331,035.00	\$254,256.00	\$238,945.00	
id Total	\$2,596,430.00	\$3,039,039.00	\$2,445,700.00	
idder Rank		2nd	1st	

BID SCHEDULE "A" RECONSTRUCT TAXILANES

City of Fallon, Nevada

Fallon Municipal Airport

AIRPORT IMPROVEMENTS FY 2024

					Engineer's	Engineer's Estimate		GRANITE		ιK
Item	Spec. No.	Description	Bid	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No.			Quantity	Measure						
1	C-100-3.1	Contractor Quality Control Program (CQCP)	1	LS	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$28,000.00	\$28,000.00
2	C-102-5.1	Storm Water Pollution Prevention Plan and Con	1	LS	\$7,500.00	\$7,500.00	\$2,500.00	\$2,500.00	\$9,155.00	\$9,155.00
3	C-105-3.1	Mobilization	1	LS	\$100,000.00	\$100,000.00	\$204,015.00	\$204,015.00	\$117,661.00	\$117,661.00
4	P-101-5.1	Asphalt Pavement Removal	9,957	SY	\$5.00	\$49,785.00	\$4.00	\$39,828.00	\$5.00	\$49,785.00
5	P-101-5.2	Pavement Saw Cutting	680	LF	\$5.00	\$3,400.00	\$1.00	\$680.00	\$4.50	\$3,060.00
6	P-103-4.1	Airport Safety and Security	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00
7	P-152-4.1	Unclassified Excavation	4,067	CY	\$35.00	\$142,345.00	\$18.00	\$73,206.00	\$20.00	\$81,340.00
8	P-152-4.3	Unsuitable Overdepth Excavation	100	CY	\$110.00	\$11,000.00	\$205.00	\$20,500.00	\$125.00	\$12,500.00
9	P-154-5.1	Subbase Course	2,403	CY	\$75.00	\$180,225.00	\$165.00	\$396,495.00	\$100.00	\$240,300.00
10	P-208-5.1	Aggregate Base Course	1,602	CY	\$85.00	\$136,170.00	\$200.00	\$320,400.00	\$150.00	\$240,300.00
11	P-401-8.1	Asphalt Surface Course	1,755	TON	\$200.00	\$351,000.00	\$190.00	\$333,450.00	\$215.00	\$377,325.00
12	P-620-5.1	Yellow Temporary Marking without Glass Bead	213	SF	\$5.00	\$1,065.00	\$5.50	\$1,171.50	\$4.50	\$958.50
13	P-620-5.2	Yellow Marking with Glass Beads	213	SF	\$5.00	\$1,065.00	\$5.50	\$1,171.50	\$7.50	\$1,597.50
		BID SCHEDULE "A" TOTAL				\$1,038,555.00		\$1,417,417.00		\$1,169,482.00

BID SCHEDULE "B" RECONSTRUCT TAXILANES

City of Fallon, Nevada

Fallon Municipal Airport

AIRPORT IMPROVEMENTS FY 2024

				Engineer's Estimate		GRANITE		A&K		
Item	Spec. No.	Description	Bid	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No.			Quantity	Measure						
1	C-100-3.1	Contractor Quality Control Program (CQCP)	1	LS	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00
2	C-102-5.1	Storm Water Pollution Prevention Plan and Cont	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
3	C-105-3.1	Mobilization	1	LS	\$30,000.00	\$30,000.00	\$94,808.00	\$94,808.00	\$65,000.00	\$65,000.00
4	P-101-5.1	Asphalt Pavement Removal	3,139	SY	\$5.00	\$15,695.00	\$7.00	\$21,973.00	\$4.00	\$12,556.00
5	P-101-5.2	Pavement Saw Cutting	219	LF	\$5.00	\$1,095.00	\$1.00	\$219.00	\$4.50	\$985.50
6	P-101-5.3	Pavement Marking Removal	20	SF	\$10.00	\$200.00	\$5.50	\$110.00	\$10.50	\$210.00
7	P-103-4.1	Airport Safety and Security	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
8	P-152-4.1	Unclassified Excavation	1,579	CY	\$35.00	\$55,265.00	\$18.00	\$28,422.00	\$20.00	\$31,580.00
9	P-152-4.3	Unsuitable Overdepth Excavation	50	CY	\$125.00	\$6,250.00	\$205.00	\$10,250.00	\$125.00	\$6,250.00
10	P-154-5.1	Subbase Course	747	CY	\$100.00	\$74,700.00	\$165.00	\$123,255.00	\$100.00	\$74,700.00
11	P-208-5.1	Aggregate Base Course	498	CY	\$100.00	\$49,800.00	\$200.00	\$99,600.00	\$150.00	\$74,700.00
12	P-401-8.1	Asphalt Surface Course	542	TON	\$250.00	\$135,500.00	\$190.00	\$102,980.00	\$215.00	\$116,530.00
13	P-620-5.1	Yellow Temporary Marking without Glass Beads	353	SF	\$5.00	\$1,765.00	\$5.50	\$1,941.50	\$4.50	\$1,588.50
14	P-620-5.2	Yellow Marking with Glass Beads	353	SF	\$5.00	\$1,765.00	\$5.50	\$1,941.50	\$7.50	\$2,647.50
		BID SCHEDULE "B" TOTAL	_	·		\$397,035.00		\$500,500.00		\$407,747.50

BID SCHEDULE "C" RELOCATE TAXIWAY G

City of Fallon, Nevada

Fallon Municipal Airport

AIRPORT IMPROVEMENTS FY 2024

-					Engineer's Estimate		GRANITE		A&K	
Item	Spec. No.	Description	Bid	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No.			Quantity	Measure						
1		Contractor Quality Control Program (CQCP)	1	LS	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00
2		Storm Water Pollution Prevention Plan and Cont	1	LS	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00
3		Mobilization	1	LS	\$100,000.00	\$100,000.00	\$150,926.00	\$150,926.00	\$60,000.00	\$60,000.00
4		Asphalt Pavement Removal	1,432	SY	\$2.50	\$3,580.00	\$12.00	\$17,184.00	\$6.50	\$9,308.00
5		Pavement Saw Cutting	722	LF	\$5.00	\$3,610.00	\$1.00	\$722.00	\$4.50	\$3,249.00
6		Pavement Marking Removal	530	SF	\$5.00	\$2,650.00	\$5.50	\$2,915.00	\$10.50	\$5,565.00
7		Airport Safety and Security	1	LS	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00	\$3,000.00	\$3,000.00
8	P-152-4.1	Unclassified Excavation	390	CY	\$35.00	\$13,650.00	\$18.00	\$7,020.00	\$35.00	\$13,650.00
9	P-152-4.2	Unclassified Excavation Placed in Embankment	190	CY	\$50.00	\$9,500.00	\$75.00	\$14,250.00	\$50.00	\$9,500.00
10	P-152-4.3	Unsuitable Overdepth Excavation	50	CY	\$110.00	\$5,500.00	\$205.00	\$10,250.00	\$125.00	\$6,250.00
11	P-154-5.1	Subbase Course	355	CY	\$100.00	\$35,500.00	\$165.00	\$58,575.00	\$100.00	\$35,500.00
12	P-208-5.1	Aggregate Base Course	235	CY	\$100.00	\$23,500.00	\$200.00	\$47,000.00	\$150.00	\$35,250.00
13	P-208-5.2	Shoulder Aggregate Base Course	230	CY	\$100.00	\$23,000.00	\$100.00	\$23,000.00	\$125.00	\$28,750.00
14	P-401-8.1	Asphalt Surface Course	250	TON	\$200.00	\$50,000.00	\$190.00	\$47,500.00	\$215.00	\$53,750.00
15	P-620-5.1	Yellow Temporary Marking without Glass Beads	730	SF	\$5.00	\$3,650.00	\$5.50	\$4,015.00	\$6.50	\$4,745.00
16	P-620-5.2	Yellow Marking with Glass Beads	730	SF	\$5.00	\$3,650.00	\$5.50	\$4,015.00	\$8.50	\$6,205.00
17	D-701-5.1	18-Inch Corrugated Metal Pipe	100	LF	\$250.00	\$25,000.00	\$230.00	\$23,000.00	\$150.00	\$15,000.00
18	L-100-5.1	Electrical Demolition and Salvage	1	LS	\$20,000.00	\$20,000.00	\$11,000.00	\$11,000.00	\$3,900.00	\$3,900.00
19	L-108-5.1	No. 8 AWG, 5kV, L-824, Type C Cable, Installe	3,955	LF	\$3.00	\$11,865.00	\$3.00	\$11,865.00	\$3.50	\$13,842.50
20	L-108-5.2	No. 6 AWG, Soild, Bare Copper Counterpoise V	1,570	LF	\$3.00	\$4,710.00	\$2.00	\$3,140.00	\$4.00	\$6,280.00
21	L-108-5.3	(2) #1/0 AWG THWN and (1) #8 CU GND, inst	147	LF	\$10.00	\$1,470.00	\$19.00	\$2,793.00	\$10.00	\$1,470.00
22	L-110-5.1	Non-Encased, Electrical Conduit, 1-Way 2-Inch	1,450	LF	\$40.00	\$58,000.00	\$33.00	\$47,850.00	\$12.00	\$17,400.00
23	L-110-5.2	Concrete-Encased, Electrical Duct Bank, 2-Way	65	LF	\$150.00	\$9,750.00	\$52.00	\$3,380.00	\$96.50	\$6,272.50
24	L-110-5.3	Concrete-Encased, Electrical Duct Bank, 4-Way	65	LF	\$175.00	\$11,375.00	\$62.00	\$4,030.00	\$74.00	\$4,810.00
25	L-115-5.1	Electrical Handhole, Complete in Place	2	EA	\$3,000.00	\$6,000.00	\$1,700.00	\$3,400.00	\$2,300.00	\$4,600.00
26	L-125-5.1	Install New L-861T(L) LED Taxiway Edge Ligh	3	EA	\$1,500.00	\$4,500.00	\$1,400.00	\$4,200.00	\$530.00	\$1,590.00
27	L-125-5.2	Relocate Existing Taxiway Edge Light on New I	18	EA	\$1,000.00	\$18,000.00	\$1,200.00	\$21,600.00	\$825.00	\$14,850.00
28		Relocate Existing Taxiway Guidance Sign on Ne	2	EA	\$7,500.00	\$15,000.00	\$10,000.00	\$20,000.00	\$3,200.00	\$6,400.00
29	L-125-5.4	Install New L-867 Base, Complete in Place	21	EA	\$2,000.00	\$42,000.00	\$1,500.00	\$31,500.00	\$1,090.00	\$22,890.00
30	L-125-5.5	Install New L-867 Junction Can, Complete in Pla	2	EA	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$675.00	\$1,350.00
		BID SCHEDULE "C" TOTAL				\$551,460.00		\$630,630.00		\$415,877.00

BID SCHEDULE "D" RECONSTRUCT ENTRANCE ROAD

City of Fallon, Nevada

Fallon Municipal Airport

AIRPORT IMPROVEMENTS FY 2024

			Engineer's Estimate		GRANITE		A&K			
Item	Spec. No.	Description	Bid	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No.			Quantity	Measure						
1	C-100-3.1	Contractor Quality Control Program (CQCP)	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00
2	C-102-5.1	Storm Water Pollution Prevention Plan and Cont	1	LS	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00
3	C-105-3.1	Mobilization	1	LS	\$25,000.00	\$25,000.00	\$30,544.00	\$30,544.00	\$30,000.00	\$30,000.00
4	P-101-5.1	Asphalt Pavement Removal	1,479	SY	\$5.00	\$7,395.00	\$12.00	\$17,748.00	\$6.50	\$9,613.50
5	P-101-5.2	Pavement Saw Cutting	90	LF	\$5.00	\$450.00	\$1.00	\$90.00	\$4.50	\$405.00
6	P-103-4.1	Airport Safety and Security	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
7	P-152-4.1	Unclassified Excavation	728	CY	\$50.00	\$36,400.00	\$18.00	\$13,104.00	\$35.00	\$25,480.00
8	P-152-4.3	Unsuitable Overdepth Excavation	50	CY	\$200.00	\$10,000.00	\$205.00	\$10,250.00	\$125.00	\$6,250.00
9	P-154-5.1	Subbase Course	340	CY	\$200.00	\$68,000.00	\$165.00	\$56,100.00	\$100.00	\$34,000.00
10	P-208-5.1	Aggregate Base Course	230	CY	\$200.00	\$46,000.00	\$200.00	\$46,000.00	\$150.00	\$34,500.00
11	P-401-8.1	Asphalt Surface Course	260	TON	\$260.00	\$67,600.00	\$190.00	\$49,400.00	\$215.00	\$55,900.00
	BID SCHEDULE "D" TOTAL					\$278,345.00		\$236,236.00		\$213,648.50

BID SCHEDULE "E" SAFETY AREA EROSION CONTROL IMPROVEMENT

City of Fallon, Nevada

Fallon Municipal Airport

AIRPORT IMPROVEMENTS FY 2024

						s Estimate	GRANITE		A&K	
Item	Spec. No.	Description	Bid	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
No.			Quantity	Measure						
1	C-100-3.1	Contractor Quality Control Program (CQCP)	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
2	C-102-5.1	Storm Water Pollution Prevention Plan and Cont	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
3	C-105-3.1	Mobilization	1	LS	\$20,000.00	\$20,000.00	\$23,501.00	\$23,501.00	\$30,000.00	\$30,000.00
4	P-103-4.1	Airport Safety and Security	1	LS	\$25,000.00	\$25,000.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00
5	P-152-4.1	Unclassified Excavation	1,335	CY	\$75.00	\$100,125.00	\$23.00	\$30,705.00	\$35.00	\$46,725.00
6	P-156-8.1	Cement Treated Subgrade	8,000	SY	\$14.00	\$112,000.00	\$18.00	\$144,000.00	\$12.50	\$100,000.00
7	P-156-8.2	Place & Compact Recycled Existing Base Cours	1,335	CY	\$46.00	\$61,410.00	\$30.00	\$40,050.00	\$32.00	\$42,720.00
		BID SCHEDULE "E" TOTAL				\$331,035.00		\$254,256.00		\$238,945.00